
Q.1 In Word processing, the Gutter margin in Page setup allows extra space only to:

Ans A. side margins, top margins or inside margins of a document that you plan to bind

B. bottom margins of a document that you plan to bind 

C. left margins of a document that you plan to bind 

D. right margins of a document that you plan to bind 

Question ID : 9679474044
Status : Answered

Chosen Option : A

Q.2 What is the purpose of Telnet?

Ans A. To log on to a remote computer that is connected to the internet

B. To allow internet users to talk across the internet to any PC equipped to receive the
call

C. To offer a forum for people to discuss topics of common interests

D. To allow people from all over the world to communicate in real time

Question ID : 9679474063
Status : Answered

Chosen Option : B

Q.3 In an MS-Word document, when you define a new bullet, which of the following options is
available?

Ans A. Ink

B. Music

C. Symbol

D. Video

Question ID : 9679474048
Status : Answered

Chosen Option : C
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Q.4 In an MS-Word document, the ‘________’ option controls spacing between the words.

Ans A. Left Alignment

B. Justification

C. Right Alignment

D. Center Alignment

Question ID : 9679474047
Status : Answered

Chosen Option : B

Q.5 The technology most popularly used by LAN is:

Ans A. SONET

B. ATM

C. Ethernet

D. Frame Relay

Question ID : 9679474059
Status : Answered

Chosen Option : C

Q.6 Popular protocols for sending and receiving emails are _______ and ________, respectively.

Ans A. SMTP 3; POP 3

B. POP 3; SMTP 3

C. POP 3; SMTP

D. SMTP; POP 3

Question ID : 9679474069
Status : Answered

Chosen Option : D

Q.7 Banded rows in a table of an MS-Word document mean:

Ans A. the first row of the table is shaded in a different colour

B. the first row and the last row are shaded in different colours

C. the alternate rows of the table are shaded in different colours

D. the header row and the first row are shaded in different colours

Question ID : 9679474049
Status : Not Answered

Chosen Option : --cli
ck
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Q.8 If you apply ‘Toggle Case’ option in MS-Word to the sentence “Good Morning”, what will be
the output?

Ans A. 

B. 

C. 

D. 

Question ID : 9679474050
Status : Answered

Chosen Option : A

Q.9 Which of the following is an example of LINUX shell?

Ans A. Baby

B. Korn

C. GBU

D. GBT

Question ID : 9679474041
Status : Not Answered

Chosen Option : --

Q.10 The shortcut key for ‘Open an already existing document’ in Windows is:

Ans A. Ctrl+S

B. Ctrl+O

C. Ctrl+V

D. Ctrl+C

Question ID : 9679474045
Status : Answered

Chosen Option : B

Q.11 Which of the following CANNOT be seen in ‘Presenter View’ of an MS-PowerPoint
presentation?

Ans A. Slide Master

B. Speaker Notes

C. Next Slide

D. Current Slide

Question ID : 9679474082
Status : Not Answered

Chosen Option : --cli
ck
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Q.12

Ans
A. 

B. 

C. 

D. 

Question ID : 9679474066
Status : Answered

Chosen Option : D

Q.13 In a spreadsheet, the function MOD returns:

Ans A. the remainder when you divide two numbers

B. the number in the middle of the set of given numbers incremented by 1

C. the mode of the numbers

D. the number in the middle of the set of given numbers

Question ID : 9679474052
Status : Answered

Chosen Option : A

Q.14 When you open a spreadsheet in MS-Excel, _________ displays the name of the Excel
worksheet.

Ans A. Title Bar

B. Formula Bar

C. Cell

D. Menu Bar

Question ID : 9679474051
Status : Answered

Chosen Option : A

Q.15 Identify the option in MS-PowerPoint that is NOT available to protect the presentation.

Ans A. Always open Read-only mode

B. Recover unsaved Presentation

C. Add a digital Signature

D. Encrypt with Password

Question ID : 9679474077
Status : Answered

Chosen Option : A
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Q.16 The full form of ADSL is:

Ans A. Asymptotic Digital Subscription Line

B. Asymmetric Digital Subscription Line

C. Asymmetric Digital Subscriber Line

D. Asymptotic Digital Subscriber Line

Question ID : 9679474061
Status : Answered

Chosen Option : C

Q.17 The purpose of the instruction register is to ________.

Ans A. keep a count of the number of executing programs

B. keep a count of control registers

C. hold the machine instruction that is currently being executed

D. hold the address of the next instruction

Question ID : 9679474035
Status : Answered

Chosen Option : C

Q.18 In MS-PowerPoint, when you choose ‘Format Background’, which of the following options is
NOT available?

Ans A. Liquid Fill

B. Pattern Fill

C. Gradient Fill

D. Solid Fill

Question ID : 9679474079
Status : Not Answered

Chosen Option : --

Q.19 Identify the FALSE statement about archiving email messages.

Ans A. Archiving removes the message from view in the inbox.

B. Archived messages cannot be searched.

C. Messages addressed to a group of people can return to your inbox if someone on the
address list replies to the original.

D. Archive puts the message in the All-Mail area in case you ever need it again.

Question ID : 9679474071
Status : Answered

Chosen Option : Bcli
ck

4p
df.

co
m

https://click4pdf.com

Downloaded From: https://click4pdf.com



Q.20 When you open an MS-Word document, the ‘Protect Document’ option allows you to:

Ans A. control what type of changes people can make to the file

B. control document properties and author name of the file

C. control the folder in which the file is saved

D. control the versions of the file

Question ID : 9679474046
Status : Answered

Chosen Option : A

Q.21 Identify the extension for a graphics file.

Ans A. .avi

B. .mid

C. .dbf

D. .jpg

Question ID : 9679474043
Status : Not Answered

Chosen Option : --

Q.22 वेब ब्राउज़र में हिस्ट्री (इतिहास) फीचर का कार्य क्या है?

Ans A. आपके  कं प्यूटर को स्पाइवेयर से बचाना

B. आपका ऑनलाइन अनुभव स्वस्थ बनाने के  लिए कु कीज़ स्थापित करना

C. जब तक आप ऑनलाइन हैं  तब तक आपकी इंटरनेट ब्राउज़िंग पर टैब रखना

D. देखी गई वेबसाइटों के  वैयक्तिकरण (पर्सनलाइजेशन) की अनुमति देना

Question ID : 9679474064
Status : Answered

Chosen Option : B

Q.23 During a web search, which symbol will you use with your text to search for exact words or
phrases?

Ans A. Double quotes 

B. Minus

C. Plus

D. Star

Question ID : 9679474067
Status : Answered

Chosen Option : Dcli
ck
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Q.24 एम.एस.-पॉवर पॉइंट में, थंबनेल का क्‍या अर्थ है?

Ans A. स्लाइड के  लिए प्लेसहोल्डर

B. एक स्लाइड के  लिए एक छोटा सा एनिमेशन

C. एक स्लाइड के  लिए एक छोटा सा पोस्टर

D. एक स्लाइड का एक लघु संस्करण

Question ID : 9679474076
Status : Answered

Chosen Option : D

Q.25 The webmail is hosted on:

Ans A. desktop disk

B. client

C. laptop disk

D. cloud server

Question ID : 9679474070
Status : Answered

Chosen Option : D

Q.26 ई-मेल में  Bcc के  बारे में निम्नलिखित में  से कौन सा कथन असत्य है?

Ans A. Bcc फील्ड में डाले गए एड्रेस को फॉरवर्ड किया जा सकता है।

B. जब आप किसी संदेश के  Bcc फील्ड में ई-मेल एड्रेस डालते हैं, तो वे एड्रेस ई-मेल प्राप्तकर्ताओं को दिखाई नहीं
देते हैं।

C. सुरक्षा और गोपनीयता कारणों से, बड़ी संख्या में  लोगों को ई-मेल संदेश भेजते समय Bcc सुविधा का उपयोग
करना सबसे अच्छा होता है।

D. प्राप्तकर्ता संदेश प्राप्त करेंगे, लेकिन Bcc फील्ड में सूचीबद्ध एड्रेस नहीं देख पाएंगे।

Question ID : 9679474075
Status : Answered

Chosen Option : C

Q.27 Identify the INCORRECT statement about videos in a slide in MS-PowerPoint.

Ans A. Current playback position in the file is indicated on the horizontal slider.

B. Once set, it is not possible to change the volume of the video clip.

C. Video files provide zoom-in feature.

D. MS-PowerPoint enables to see the preview of video files.

Question ID : 9679474078
Status : Answered

Chosen Option : Bcli
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Q.28 Identify the capability of the computer system that makes it adaptable.

Ans A. Never getting tired, bored or fatigued

B. The quality to complete different types of tasks: simple as well as complex

C. The level of precision with which calculations are done

D. The duration that the computer system requires for fulfilling a task

Question ID : 9679474036
Status : Answered

Chosen Option : A

Q.29 Which of the following is NOT a web browser?

Ans A. Firefox

B. Safari

C. DuckDuckGo

D. Edge

Question ID : 9679474062
Status : Answered

Chosen Option : C

Q.30 The general length of a MAC address is:

Ans A. 42 bits

B. 40 bits

C. 38 bits

D. 48 bits

Question ID : 9679474060
Status : Not Answered

Chosen Option : --

Q.31 1024 Gigabyte is equal to:

Ans A. 1 Terabyte

B. 1 Petabyte

C. 10 Petabytes

D. 1 Exabyte

Question ID : 9679474038
Status : Answered

Chosen Option : Acli
ck
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Q.32 वेब ब्राउज़र में 'क्लियर रीसेंट हिस्ट्री (हाल ही की हिस्ट्री साफ करें)' विकल्प के  बारे में निम्नलिखित में  से कौन सा
कथन असत्य है?

Ans A. यह आपको एक साफ स्लेट के  साथ ब्राउज़िंग शुरू करने की अनुमति देता है।

B. यह आपको हिस्ट्री रिकॉर्ड को साफ करने की अनुमति देता है।

C. क्लियर रीसेंट हिस्ट्री (हाल ही की हिस्ट्री साफ करें) कार्रवाई को पूर्ववत किया जा सकता है।

D. आपकी सभी वेबसाइट विज़िट्स आपके  ब्राउज़र की मेमोरी से मिटा दी जाएंगी।

Question ID : 9679474068
Status : Answered

Chosen Option : C

Q.33 In a spreadsheet, to edit the legend text in a chart, select the:

Ans A. Filter icon

B. Plus icon

C. Pen icon

D. Brush icon

Question ID : 9679474056
Status : Not Answered

Chosen Option : --

Q.34 Which of the following is a primary storage device?

Ans A. DRAM

B. Compact disk

C. Flash drive

D. Pen drive

Question ID : 9679474037
Status : Answered

Chosen Option : A

Q.35 Android is a kind of ________ software.

Ans A. utility

B. connectivity

C. system

D. application

Question ID : 9679474034
Status : Answered

Chosen Option : Ccli
ck
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Q.36

Ans A. 

B. 

C. 

D. 

Question ID : 9679474065
Status : Answered

Chosen Option : D

Q.37

Ans A. 

B. 

C. 



D. 

Question ID : 9679474055
Status : Answered

Chosen Option : B

Q.38 What is a trigger in an MS-PowerPoint presentation?

Ans A. An object that allows you to hide a slide during a slide show

B. An object that allows you to rehearse timing

C. An object that you click to cause transition to occur on a slide 

D. An object that you click to cause animation to occur on a slide 

Question ID : 9679474081
Status : Not Answered

Chosen Option : --

Q.39 By default, dates and times are ________ in a cell of an MS-Excel sheet.

Ans A. left aligned

B. right aligned

C. centre aligned

D. fill span

Question ID : 9679474054
Status : Not Answered

Chosen Option : --cli
ck

4p
df.

co
m

https://click4pdf.com

Downloaded From: https://click4pdf.com



Q.40 _________ an email means that it will disappear for a while and then, will come back to the
top of your inbox at the time you pick as though you are receiving it all over again.

Ans A. Snoozing

B. Marking as Unread

C. Muting

D. Archiving

Question ID : 9679474074
Status : Answered

Chosen Option : D

Q.41 Identify the TRUE statement about labels in email.

Ans A. Labels do not flag emails.

B. Labels do not collate emails as they flow into your inbox.

C. You cannot apply multiple labels to an email.

D. Labels do not require emails to be stored and organised at one place. You can search
for messages under each label.

Question ID : 9679474073
Status : Not Answered

Chosen Option : --

Q.42 In an MS-PowerPoint presentation, when a video is inserted in a slide, which of the
following options is NOT available for playback?

Ans A. Hide while not playing

B. Loop until stopped

C. Play full screen

D. Arrange all

Question ID : 9679474080
Status : Not Answered

Chosen Option : --
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Q.43

Ans A. 

B. 

C. 

D. 

Question ID : 9679474057
Status : Answered

Chosen Option : B

Q.44

Ans A. 

B. 

C. 

D. 

Question ID : 9679474072
Status : Not Answered

Chosen Option : --

Q.45

Ans A. 

B. 

C. 

D. 

Question ID : 9679474042
Status : Answered

Chosen Option : Bcli
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Q.46 An ‘Optical Character Reader’ is an example of:

Ans A. control unit

B. input unit

C. arithmetic and logic unit

D. output unit

Question ID : 9679474033
Status : Answered

Chosen Option : B

Q.47 To enter the same data in several cells, select the cells, type the data and then, press:

Ans A. Shift+Ctrl+Enter

B. Shift+Enter

C. Ctrl+Enter

D. Alt+Ctrl+Enter

Question ID : 9679474053
Status : Not Answered

Chosen Option : --

Q.48 Wireless broadband (Wi-Fi) connects a home or business to the internet using ________
signals.

Ans A. sound

B. radio

C. microwave

D. light

Question ID : 9679474058
Status : Answered

Chosen Option : B

Q.49 Palm operating system is an example of _________.

Ans A. multiuser/multitasking

B. single-user/multitasking

C. single-user/single tasking

D. real time

Question ID : 9679474040
Status : Not Answered

Chosen Option : --

Q.50 Which of the following is NOT a version name of the MAC operating system?

Ans A. Catalina

B. Sierra

C. Mojave

D. Blue

Question ID : 9679474039
Status : Not Answered

Chosen Option : --
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Q.1 Which of the following state governments released Rs. 686 crores in 2021, for the
education assistance scheme titled Vidya Deevena Scheme?

Ans A. Tamil Nadu

B. Bihar

C. Karnataka

D. Andhra Pradesh

Question ID : 9679474086
Status : Not Answered

Chosen Option : --

Q.2 Who among the following launched the River Cities Alliance, a dedicated platform for river
cities in India to ideate, discuss and exchange information for sustainable management of
urban rivers in 2021?

Ans A. Dharmendra Pradhan

B. Gajendra Singh Shekhawat

C. Arjun Munda

D. Nirmala Sitharaman

Question ID : 9679474097
Status : Not Answered

Chosen Option : --

Q.3 In which of the following places did archaeologists find a special tank called ‘The Great
Bath’?

Ans A. Dholavira

B. Mohenjo-Daro

C. Sokhta Koh

D. Lothal

Question ID : 9679474091

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.4 Who among the following introduced the Judges Bill in Lok Sabha in 2021?

Ans A. Narendra Singh Tomar

B. Rajnath Singh

C. Kiren Rijiju

D. Pralhad Joshi

Question ID : 9679474087
Status : Not Answered

Chosen Option : --

Section : General Knowledge and Awareness
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Q.5 According to the data from the RBI, approximately how many ATMs are there in India as of
September 2021?

Ans A. 2.4 lakh

B. 1.5 lakh

C. 2 lakh

D. 1.75 lakh

Question ID : 9679474092
Status : Not Answered

Chosen Option : --

Q.6 Which of the following Articles of the Constitution grants the President certain law-making
powers to promulgate ordinances, when either of the two Houses of Parliament is NOT in
session?

Ans A. 123

B. 116

C. 97

D. 101

Question ID : 9679474100
Status : Not Answered

Chosen Option : --

Q.7 In India, the Planning Commission was set up in the year 1950. Who among the following
was the Chairperson of the Planning Commission in that year?

Ans A. The Vice President

B. The President

C. The Finance Minister

D. The Prime Minister

Question ID : 9679474093
Status : Answered

Chosen Option : D

Q.8 In 2021, which of the following organised a Tribes India Conclave in association with the
Ministry of External Affairs at the ‘Tribes India Adi Mahotsav’?

Ans A. TRIFED

B. Samata

C. Nilgiris Wynaad Tribal Welfare Society

D. Kalinga Institute of Social Sciences

Question ID : 9679474098
Status : Not Answered

Chosen Option : --
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Q.9 In 2021, who among the following was inducted to the Prime Minister’s Economic Advisory
Council?

Ans A. Dr. C Rangarajan

B. T.T. Ram Mohan

C. Dr. Dilip M Nachane

D. Shamika Ravi

Question ID : 9679474102
Status : Not Answered

Chosen Option : --

Q.10 India's GDP grew by ______ percent in the second quarter (July-September) of fiscal year
2021-22.

Ans A. 5.3

B. 6.7

C. 4.6

D. 8.4

Question ID : 9679474095
Status : Answered

Chosen Option : D

Q.11 A number of local assemblies were formed during the period of Pallavas. Which of the
following denotes an assembly of brahmin landowners?

Ans A. Nagaram

B. Sabha

C. Ur

D. Brahmini

Question ID : 9679474090
Status : Answered

Chosen Option : D

Q.12 In which of the following states is Indian Railways constructing the world’s tallest railway
bridge pier?

Ans A. Nagaland

B. Manipur

C. Mizoram

D. Assam

Question ID : 9679474096
Status : Answered

Chosen Option : Dcli
ck
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Q.13 Which of the following states was adjudged as the cleanest state in the country in the
‘Swachh Survekshan 2021’?

Ans A. Assam

B. Tamil Nadu

C. Bihar

D. Chhattisgarh

Question ID : 9679474099
Status : Answered

Chosen Option : A

Q.14 In 2021, which of the following state government’s police launched a mobile application
called ‘Call your Cop’, for facilitating the users to get in touch with the law enforcers
anywhere in the state?

Ans A. Kerala

B. Andhra Pradesh

C. Nagaland

D. Manipur

Question ID : 9679474088
Status : Not Answered

Chosen Option : --

Q.15 In 2021, which Central government ministry launched a pilot project to revive the Namda
craft of Kashmir?

Ans A. Ministry of Micro Small and Medium Enterprises

B. Ministry of Skill Development and Entrepreneurship

C. Ministry of Corporate Affairs

D. Ministry of Commerce and Industry

Question ID : 9679474084
Status : Not Answered

Chosen Option : --

Q.16 According to the NSSO survey, what is the unemployment rate among females in urban
areas (age 15 and above) in January-March 2021?

Ans A. 11.8 percent

B. 9 percent

C. 13 percent

D. 15 percent

Question ID : 9679474083
Status : Not Answered

Chosen Option : --
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Q.17 Five-year plans were envisaged with certain goals. Which of the following is NOT treated as
a goal of the five-year plans?

Ans A. Modernisation

B. Growth

C. Equity

D. Competitive advantage

Question ID : 9679474094
Status : Answered

Chosen Option : D

Q.18 What is India’s rank in the Global Cybersecurity Index (GCI) 2020 launched by International
Telecommunication Union?

Ans A. 10th

B. 21st

C. 15th

D. 19th

Question ID : 9679474085
Status : Not Answered

Chosen Option : --

Q.19 In which of the following years has Lok Sabha passed the Assisted Reproductive
Technology Regulation Bill, which makes provisions for the safe and ethical practice of
assisted reproductive technology (ART) services in the country?

Ans A. 2015

B. 2018

C. 2021

D. 2017

Question ID : 9679474101
Status : Not Answered

Chosen Option : --

Q.20 In which of the following years was the Asiatic Society founded by Sir William Jones?

Ans A. 1799

B. 1673

C. 1784

D. 1801

Question ID : 9679474089
Status : Answered

Chosen Option : C

Section : Reasoning and Aptitute
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Q.1 Select the word that CANNOT be formed using the letters of the given word only as many
times as the letters have been used in the word.

ABSCONDING

Ans A. CODING

B. GOING

C. BONDING

D. SONG

Question ID : 9679474110
Status : Answered

Chosen Option : B

Q.2 In an imaginary mathematical system, K denotes division, L denotes addition, M denotes
subtraction, and N denotes multiplication. If all other rules of mathematics are the same as
in the existing system, then find the value of the following expression.

14 N 36 L 377 K 29 M 116 = ? 

Ans A. 401

B. 124

C. 265

D. 425

Question ID : 9679474140
Status : Answered

Chosen Option : A

Q.3 Neha is the mother of Priyanshi, who is the daughter of Ketan. Vijay and Kapil are the
brothers of Neha. Divya is the mother of Vijay. How is Divya related to Priyanshi?

Ans A. Father’s mother

B. Father’s sister

C. Mother’s sister

D. Mother’s mother

Question ID : 9679474117
Status : Answered

Chosen Option : D

Q.4 In a certain code language, 
‘Raghu is playing chess’ is written as YK HL CR NT,
‘Raghu likes noodle’ is written as SD CR LS,
‘noodle is hot’ is written as NT SD PN.

How will ‘playing chess’ be written in that language?

Ans A. HL YK

B. CR NT

C. CR YK

D. HL CR

Question ID : 9679474111
Status : Answered

Chosen Option : A
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Q.5 Select the number from among the given options that can replace the question mark (?) in
the following series. 

8, 16, 64, ?, 8192

Ans A. 512

B. 596

C. 524

D. 496

Question ID : 9679474133
Status : Answered

Chosen Option : A

Q.6 Select the letter-cluster from among the given options that can replace the question mark
(?) in the given series.

HCB, KDE, NEH, QFK, ?

Ans A. TGN

B. SGO

C. THM

D. SHN

Question ID : 9679474103
Status : Answered

Chosen Option : A

Q.7 Select the option that is related to the third alphanumeric-cluster in the same way as the
second alphanumeric-cluster is related to the first alphanumeric-cluster.

HK6 : SP36 :: NG9 : ?

Ans A. MT81

B. QS49

C. HT36

D. PS81

Question ID : 9679474121
Status : Answered

Chosen Option : A

Q.8 Select the alphanumeric-cluster from among the given options that can replace the
question mark (?) in the given series.

C11Z, D13Y, F17W, I19T, ?

Ans A. N23Q

B. N27Q

C. M23P

D. M33P

Question ID : 9679474107
Status : Answered

Chosen Option : C
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Q.9 Three of the following four figures are alike in a certain way and thus form a group. Identify
the figure that does NOT belong to this group.

Ans

A. 

B. 

C. 

D. 

Question ID : 9679474130
Status : Answered

Chosen Option : A

Q.10 चार शब्द युग्म दिए गए हैं, जिनमें से तीन किसी भाँति एकसमान हैं, और एक असंगत है। असंगत शब्द युग्म का
चयन कीजिए।

Ans A. सुंदर : आनंदप्रद

B. हीन : निम्नतर

C. म्लान : हर्षि त

D. उल्लसितत : प्रसन्न

Question ID : 9679474125
Status : Answered

Chosen Option : C

Q.11 Select the alphanumeric-cluster from among the given options that can replace the
question mark (?) in the given series.

LN6, OK12, RH18, UE24, ?

Ans A. YD30

B. XB30

C. YC28

D. XB37

Question ID : 9679474106
Status : Answered

Chosen Option : Bcli
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Q.12 N, P के  पति का पिता है। R जो है, वह N और L का पुत्र है। P का L से क्या संबंध है?

Ans A. पुत्री

B. पौत्री

C. पुत्रवधू

D. बहन

Question ID : 9679474114
Status : Answered

Chosen Option : C

Q.13 Select the number from among the given options that can replace the question mark (?) in
the following series.

119, 166, 193, 240, 267, ?

Ans A. 307

B. 294

C. 314

D. 327

Question ID : 9679474131
Status : Answered

Chosen Option : C

Q.14 Four number-triads have been given, out of which three are alike in some manner and one is
different. Select the number-triad that is different.

Ans A. (6, 7, 84)

B. (8, 5, 80)

C. (4, 7, 65)

D. (4, 9, 72)

Question ID : 9679474137
Status : Answered

Chosen Option : C

Q.15 If in an imaginary mathematical system, '−' stands for addition, '+' stands for division, '×'
stands for subtraction, and '÷' stands for multiplication, and rest of the things are the same
as in the existing mathematical system, then find the value of the following expression. 

136 − 32 ÷ 88 + 11 × 29 = ? 

Ans A. 398

B. 402

C. 256

D. 363

Question ID : 9679474141
Status : Answered

Chosen Option : D
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Q.16

Ans A. 

B. 

C. 

D. 

Question ID : 9679474109
Status : Answered

Chosen Option : B

Q.17 एक कू टलेखन (coding) प्रणाली में, यदि 32 − 16 = 56 और 110 − 84 = 178 हो, तो 84 − 26 का मान ज्ञात
कीजिए।

Ans A. 155

B. 146

C. 116

D. 135

Question ID : 9679474142
Status : Not Answered

Chosen Option : --

Q.18

Ans A. 

B. 

C. 

D. 

Question ID : 9679474108
Status : Answered

Chosen Option : D

Q.19 If 5 + 8 = 40, 8 + 13 = 104, then 19 + 4 = ?

Ans A. 23

B. 96

C. 38

D. 76

Question ID : 9679474139
Status : Answered

Chosen Option : D
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Q.20 In a certain code language, ‘GALAXY’ is written as YXALAG, and 'PLANET’ is written as
TENALP. How will ‘ASTRONOMY’ be written in that language?

Ans A. YMONROTSA

B. YMONORSTA

C. YOMNORTSA

D. YMONORTSA

Question ID : 9679474112
Status : Answered

Chosen Option : D

Q.21 कविता, पीयूष की बहन नेहा की माता है। कपिल, वेदांश का एकमात्र पुत्र है, जो पीयूष का दादा है। कविता का
वेदांश से क्या संबंध है?

Ans A. पौत्री

B. बहन

C. पुत्री

D. बहू

Question ID : 9679474118
Status : Answered

Chosen Option : D

Q.22 रजत ने नीहारिका की ओर संके त करते हुए कहा,"वह मेरे भाई के  पिता की एकमात्र पुत्री की पुत्री है"। रजत का
नीहारिका से क्या संबंध है?

Ans A. पिता का भाई (चाचा)

B. पिता

C. भाई

D. माता का भाई (मामा)

Question ID : 9679474115
Status : Answered

Chosen Option : D

Q.23 चार शब्द युग्म दिए गए हैं, जिनमें से तीन किसी भाँति एकसमान हैं, और एक असंगत है। असंगत शब्द युग्म का
चयन कीजिए।

Ans A. कठोर : मुलायम

B. मोटा : पतला

C. छोटा : बड़ा

D. व्यापक : विस्‍तृत

Question ID : 9679474124
Status : Answered

Chosen Option : D
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Q.24 Select the option that is related to the third number in the same way as the second number
is related to the first number and the sixth number is related to the fifth number.

16 : 263 :: 13 : ? :: 18 : 331

Ans A. 176

B. 197

C. 152

D. 169

Question ID : 9679474135
Status : Answered

Chosen Option : A

Q.25 Four letter-cluster triads have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster triad that is different.

Ans A. GHL : ILR : ROI

B. QLK : SPQ : HJN

C. RMG : TQM : GJN

D. NQP : PUV : KFE

Question ID : 9679474126
Status : Not Answered

Chosen Option : --

Q.26 Select the option that is related to the third number in the same way as the second number
is related to the first number and the sixth number is related to the fifth number.

18 : 108 :: 32 : ? :: 24 : 144

Ans A. 192

B. 176

C. 152

D. 168

Question ID : 9679474134
Status : Answered

Chosen Option : A

Q.27 H is the only sister of P and T. N is the mother of T, and V is the father of P. M is the only son
of H and S. How is V related to S?

Ans A. Father-in-law

B. Father

C. Father’s brother

D. Brother

Question ID : 9679474116
Status : Answered

Chosen Option : A
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Q.28 Select the option that is related to the third letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster.

NTS : QVT :: GPK : ?

Ans A. IRM

B. IRL

C. JRL

D. JSM

Question ID : 9679474120
Status : Answered

Chosen Option : C

Q.29 Four letter-cluster pairs have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster pair that is different.

Ans A. DKM : FMO

B. BGS : DIU

C. FGS : HIU

D. HKW : JOY

Question ID : 9679474123
Status : Answered

Chosen Option : D

Q.30

Ans

A. 

B. 

C. 

D. 

Question ID : 9679474128
Status : Answered

Chosen Option : B
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Q.31 Select the number from among the given options that can replace the question mark (?) in
the following series.

159, 195, 244, ?, 389

Ans A. 328

B. 352

C. 308

D. 368

Question ID : 9679474132
Status : Answered

Chosen Option : C

Q.32 Select the option in which the numbers are related in the same way as are the numbers of
the following set.

(72, 48, 60)

Ans A. (62, 74, 68)

B. (24, 96, 80)

C. (46, 24, 38)

D. (34, 48, 42)

Question ID : 9679474136
Status : Not Answered

Chosen Option : --
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Q.33 Three of the following four figures are alike in a certain way and thus form a group. Identify
the figure that does NOT belong to this group. 

Ans

A. 

B. 

C. 

D. 

Question ID : 9679474129
Status : Answered

Chosen Option : D

Q.34 In a certain code, if '$' means 'addition', '#' means 'multiplication', '@' means 'division', and '&'
means 'subtraction', then find the value of the following expression.

423 & 3 # 132 @ 12 $ 99 = ?

Ans A. 515

B. 624

C. 489

D. 324

Question ID : 9679474138
Status : Answered

Chosen Option : Ccli
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Q.35 In a certain code language, ‘GARDEN’ is written as OGGVFM and ‘LABOUR’ is written as
SWRFFR. How will ‘INCOME’ be written in that language?

Ans A. GOPHTN

B. ORFGSO

C. FORGSO

D. FOGRSO

Question ID : 9679474113
Status : Not Answered

Chosen Option : --

Q.36 Select the option that is related to the third letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster.

SGPQRN : PGSNRQ :: TUKHWC : ?

Ans A. KTUCWH

B. KUTWCH

C. KUTCWH

D. KUTCHWC

Question ID : 9679474119
Status : Answered

Chosen Option : C

Q.37 Select the letter-cluster from among the given options that can replace the question mark
(?) in the given series.

HCA, IFF, JIK, KLP, ?

Ans A. MOV

B. NPV

C. LOU

D. NOU

Question ID : 9679474105
Status : Answered

Chosen Option : C

Q.38 Four letter-cluster pairs have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster pair that is different.

Ans A. PQ : KJ

B. HO : SL

C. GK : TP

D. ME : NW

Question ID : 9679474127
Status : Answered

Chosen Option : D
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Q.39 Select the letter-cluster from among the given options that can replace the question mark
(?) in the given series.

ZOX, XMV, VKT, TIR, ?

Ans A. RGP

B. QHT

C. SGQ

D. RHR

Question ID : 9679474104
Status : Answered

Chosen Option : A

Q.40 Select the option that is related to the third letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster.

VNQ : JME :: PRG : ?

Ans A. TJL

B. SHJ

C. SJP

D. TIK

Question ID : 9679474122
Status : Answered

Chosen Option : D

Q.1 लोकोक्ति में रेखांकित शब्द के  स्थान पर किस शब्द का प्रयोग होगा?

जब आवे अपार धन सब धन धूरि समान

Ans A. ढेरों

B. संतोष

C. सोना

D. सच्चा

Question ID : 9679474173
Status : Answered

Chosen Option : B

Q.2 वाक्य का शुद्ध रूप है:

बाघ और बकरी एक ही घाट पर पानी पीती है।

Ans A. बाघ और बकरी एक ही घाट पर पानी नहीं पीते है।

B. बाघ और बकरी एक ही घाट पर पानी पी सकते हैं।

C. बाघ और बकरी एक ही घाट पर पानी पीता है।

D. बाघ और बकरी एक ही घाट पर पानी पीते हैं।

Question ID : 9679474148
Status : Answered

Chosen Option : D

Section : General Hindi
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Q.3 ‘उत्कृ ष्ट’ का विलोम शब्द है:

Ans A. कृ ष्ट

B. उपकृ ष्ट

C. सकृ ष्ट

D. निकृ ष्ट

Question ID : 9679474210
Status : Answered

Chosen Option : D

Q.4 निम्नलिखित वाक्यों में से शुद्ध वाक्य है:

Ans A. मीना घर जाती है।

B. राजा-रानी आई।

C. मीना घर जाते है।

D. राजा-रानी आया।

Question ID : 9679474151
Status : Answered

Chosen Option : A

Q.5 रिक्त स्थान के  लिए रेखांकित शब्द के  उचित विलोम शब्द का चयन कीजिए।

इन दोनों भाइयों के  स्वभाव में आकाश ______ का अंतर है।

Ans A. प्रकाश

B. पाताल

C. आसमान

D. जमीन

Question ID : 9679474204
Status : Answered

Chosen Option : B

Q.6 ‘गृह’ का तद्भव रूप है:

Ans A. गाजर

B. ग्रह

C. घर

D. नक्षत्र

Question ID : 9679474178
Status : Answered

Chosen Option : Ccli
ck
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Q.7 मुँह में दम करना – मुहावरे का शुद्ध रूप है:

Ans A. हाथ में दम करना

B. दाँत में दम करना

C. आँख में दम करना

D. नाक में दम करना

Question ID : 9679474155
Status : Answered

Chosen Option : D

Q.8 अंधों में गोरा राजा – लोकोक्ति का शुद्ध रूप है:

Ans A. अंधों में सीधा राजा

B. अंधों में काना राजा

C. अंधों में बहरा राजा

D. कानों में  अंधा राजा

Question ID : 9679474170
Status : Answered

Chosen Option : B

Q.9 वाक्य का कौन सा खंड अशुद्ध है?

मैं गाने की कसरत करता हूँ।

Ans A. मैं

B. गाने

C. करता

D. कसरत

Question ID : 9679474146
Status : Answered

Chosen Option : C

Q.10 वाक्य का शुद्ध रूप होगा:

गौरव क्या सो रहा है?

Ans A. गौरव कै से सो रहा है?

B. गौरव सो रहा है।

C. गौरव सो रहा है क्या?

D. क्या गौरव सो रहा है?

Question ID : 9679474150
Status : Answered

Chosen Option : D
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Q.11 वाक्य में आए रिक्त स्थान के  लिए उचित शब्द है:

प्रत्येक व्यक्ति अच्छा जीवन जीना ______ है।

Ans A. सोचता

B. चाहता

C. चाहते

D. चाह

Question ID : 9679474144
Status : Answered

Chosen Option : B

Q.12 ‘बाण’ का पर्यायवाची शब्द नहीं है:

Ans A. विशिख

B. शर

C. तीर

D. सफरी

Question ID : 9679474199
Status : Answered

Chosen Option : D

Q.13 वाक्य में आए रेखांकित शब्द का पर्यायवाची है:

आज मौसम कितना रम्य है।

Ans A. कोमल

B. सुहावना

C. ठंडा

D. खराब

Question ID : 9679474194
Status : Answered

Chosen Option : B

Q.14 वाक्य में रेखांकित शब्द के  स्थान पर किस शब्द का प्रयोग होगा?

तुम हर बात में टाँग लगाते हो।

Ans A. रखते

B. चलाते

C. रोकते

D. अड़ाते

Question ID : 9679474158
Status : Answered

Chosen Option : D
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Q.15 ऊँ ट के  मुँह में  जीरा - लोकोक्ति का अर्थ है:

Ans A. जीरे जैसा बारीक होना

B. अचानक कु छ मिलना

C. ऊँ ट को जीरा खिलाना

D. आवश्यकता से बहुत कम

Question ID : 9679474164
Status : Answered

Chosen Option : D

Q.16 वाक्य में आए रेखांकित शब्द का पर्यायवाची है:

यह कड़े सोने के  हैं।

Ans A. वित्त

B. स्वर्ण

C. द्रव्य

D. कांता

Question ID : 9679474193
Status : Answered

Chosen Option : B

Q.17 ‘पर्यंक’ का तद्भव रूप है:

Ans A. पकवान

B. पतंगा

C. पंख

D. पलंग

Question ID : 9679474179
Status : Answered

Chosen Option : C

Q.18 दाल भात में मूसलचंद - लोकोक्ति का अर्थ है:

Ans A. सच्चे  को डर नहीं

B. संगति का प्रभाव पड़ना

C. मजा किरकिरा करना

D. बेकार दखल देना

Question ID : 9679474166
Status : Answered

Chosen Option : Dcli
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Q.19 ‘वैतनिक’ का विलोम शब्द है:

Ans A. सवैतनिक

B. सम्मुख

C. तनिक

D. अवैतनिक

Question ID : 9679474211
Status : Answered

Chosen Option : D

Q.20 ‘आम’ का तत्सम रूप है:

Ans A. अमिय

B. आमक

C. आमरा

D. आम्र

Question ID : 9679474176
Status : Answered

Chosen Option : D

Q.21 दिखावटी परहेज करना - अर्थ के  लिए उचित लोकोक्ति है:

Ans A. धोखे का लड्डू

B. लालच बुरी बला

C. बंदर क्या जाने अदरक का स्वाद

D. गुड़ खाए गुलगुले से परहेज

Question ID : 9679474167
Status : Answered

Chosen Option : D

Q.22 रिक्त स्थान के  लिए रेखांकित शब्द के  उचित विलोम शब्द का चयन कीजिए।

विजय और ______ सब भगवान के  हाथ है।

Ans A. जय

B. पराजय

C. संजय

D. अजय

Question ID : 9679474201
Status : Answered

Chosen Option : Bcli
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Q.23 अके ला आदमी लाचार होता है - अर्थ के  लिए उचित लोकोक्ति है:

Ans A. अके ला चना लक्ष्य नहीं पाता

B. अके ला चना नहीं पकता

C. अके ला चना पतीला नहीं फोड़ता

D. अके ला चना भाड़ नहीं फोड़ता

Question ID : 9679474168
Status : Answered

Chosen Option : D

Q.24 उलटी गंगा बहाना - मुहावरे का अर्थ है:

Ans A. नदी के  विपरीत चलना

B. बड़ा काम करना

C. प्रतिकू ल कार्य

D. झगड़ा करना

Question ID : 9679474152
Status : Answered

Chosen Option : C

Q.25 वाक्य में आए रिक्त स्थान के  लिए उचित शब्द है:

पशुओं का ______ घूम रहा है।

Ans A. भीड़

B. झुंड

C. गण

D. जत्था

Question ID : 9679474143
Status : Answered

Chosen Option : B

Q.26 वाक्य में आए रेखांकित शब्द का पर्यायवाची है:

आसमान में  काले-काले बादल छा गए।

Ans A. घन

B. रवि

C. रुचिर

D. जलधि

Question ID : 9679474192
Status : Answered

Chosen Option : A
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Q.27 रिक्त स्थान के  लिए उचित शब्द का चयन कीजिए:

निके श की मेहनत एक-न-एक दिन रंग ______।

Ans A. पाएगी

B. मारेगी

C. लाएगी

D. जाएगी

Question ID : 9679474161
Status : Answered

Chosen Option : C

Q.28 रिक्त स्थान के  लिए रेखांकित शब्द के  उचित विलोम शब्द का चयन कीजिए।

यह अनाज गीला कै से हो गया, अभी तो ______ था।

Ans A. फै ला

B. सूखा

C. साफ

D. गरम

Question ID : 9679474202
Status : Answered

Chosen Option : B

Q.29 वाक्य में रेखांकित शब्द के  स्थान पर किस शब्द का प्रयोग होगा?

हमें दुश्मनों की ईंट का जवाब पर्वत से देना है।

Ans A. कं कड़

B. ईंट

C. पत्थर

D. पहाड़

Question ID : 9679474159
Status : Answered

Chosen Option : C

Q.30 वाक्य में रेखांकित शब्द के  स्थान पर किस शब्द का प्रयोग होगा?

इतना काम करना पड़ा कि आज अंग-अंग चिपक रहा है।

Ans A. जुड़

B. टूट

C. मिल

D. रो

Question ID : 9679474160
Status : Answered

Chosen Option : B
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Q.31 ‘श्रीगणेश’ का विलोम शब्द है:

Ans A. इतिश्री

B. चिरायु

C. प्रारंभ

D. अंतिम

Question ID : 9679474212
Status : Answered

Chosen Option : A

Q.32 रेखांकित शब्द के  स्थान पर कौन सा शब्द आएगा?

वह मुझसे बड़े है।

Ans A. जैसा

B. अपना

C. बड़ा

D. लंबे

Question ID : 9679474145
Status : Answered

Chosen Option : C

Q.33 निम्नलिखित में से तत्सम शब्द नहीं है:

Ans A. पाषाण

B. द्वादश

C. छत्र

D. ग्वाला

Question ID : 9679474187
Status : Answered

Chosen Option : A

Q.34 निम्नलिखित में से तत्सम तथा तद्भव शब्दों का कौन-सा युग्म शुद्ध है?

Ans A. भद्र - अच्छा

B. पूर्व - पहला

C. प्रस्तर - पत्थर

D. मक्षिका - मीठा

Question ID : 9679474185
Status : Answered

Chosen Option : Acli
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Q.35 निम्नलिखित में से तत्सम तथा तद्भव शब्दों का कौन-सा युग्म अशुद्ध है?

Ans A. घोटक - गोबर

B. उष्ट्र - ऊँ ट

C. अग्नि - आग

D. क्षीर - खीर

Question ID : 9679474181
Status : Answered

Chosen Option : A

Q.36 होनहार बिरबान के  होत चीकने पात - लोकोक्ति का अर्थ है:

Ans A. होनहार के  लक्षण पता ही नहीं चलते हैं

B. होनहार के  लक्षण बहुत बाद में पता लगते हैं

C. होनहार के  लक्षण पहले से ही दिखाई देने लगते हैं

D. होनहार के  लक्षण पहले से दिखाई नहीं देते हैं

Question ID : 9679474163
Status : Answered

Chosen Option : C

Q.37 निम्नलिखित में से तत्सम तथा तद्भव शब्दों का कौन-सा युग्म शुद्ध है?

Ans A. पृष्ठ - पत्ता

B. तृण - तिनका

C. धर्म - पूजा

D. दुग्ध - दही

Question ID : 9679474184
Status : Answered

Chosen Option : D

Q.38 ‘अंबर’ का पर्यायवाची शब्द है:

Ans A. अनंत

B. धनद

C. रसाल

D. क्षितिज

Question ID : 9679474196
Status : Answered

Chosen Option : A

Q.39 बहुत अधिक कोशिश करना - अर्थ के  लिए उचित मुहावरा है:

Ans A. तूती बोलना

B. दौड़-धूप करना

C. तीन तेरह होना

D. बहुत तेज दौड़ना

Question ID : 9679474154
Status : Answered

Chosen Option : B
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Q.40 रिक्त स्थान के  लिए उचित शब्द का चयन कीजिए।

मन चंगा तो ______ में गंगा

Ans A. हाथ

B. गिरह

C. कटोरे

D. कठौती

Question ID : 9679474174
Status : Answered

Chosen Option : D

Q.41 निम्नलिखित में से तत्सम तथा तद्भव शब्दों का कौन-सा युग्म अशुद्ध है?

Ans A. कृ षक - कु म्हार

B. कीटक - कीड़ा

C. उलूक - उल्लू

D. अक्षि - आँख

Question ID : 9679474180
Status : Answered

Chosen Option : A

Q.42 ‘जटिल’ का विलोम शब्द है:

Ans A. सरल

B. उलझा

C. शांत

D. कोमल

Question ID : 9679474209
Status : Answered

Chosen Option : A

Q.43 बिनु भय होहिं न प्रीति - लोकोक्ति का अर्थ है:

Ans A. भय जीवन में जरूरी है

B. बिना भय के  प्रेम संभव नहीं

C. प्रेम में संतोष है

D. प्रेम ही प्रीति है

Question ID : 9679474165
Status : Answered

Chosen Option : Bcli
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Q.44 वाक्य का कौन सा खंड अशुद्ध है?

मैंने दो वर्षों तक उनकी प्रतीक्षा देखी।

Ans A. प्रतीक्षा

B. मैंने

C. दो वर्षों

D. देखी

Question ID : 9679474147
Status : Answered

Chosen Option : D

Q.45 वाक्य में आए रेखांकित शब्द का पर्यायवाची है:

आग लगने से लाखों का नुकसान हो गया।

Ans A. धाम

B. अमिय

C. पावक

D. अतुल

Question ID : 9679474191
Status : Answered

Chosen Option : C

Q.46 रिक्त स्थान के  लिए उचित शब्द का चयन कीजिए:

यह ______ झूठ है कि मैंने उसे डाँटा।

Ans A. सफे द

B. सर्द

C. काला

D. रंगीन

Question ID : 9679474162
Status : Answered

Chosen Option : A

Q.47 निम्नलिखित में से तद्भव शब्द नहीं है:

Ans A. भ्रमर

B. पैर

C. पूत

D. नीम

Question ID : 9679474188
Status : Answered

Chosen Option : A
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Q.48 रिक्त स्थान के  लिए उचित शब्द का चयन कीजिए।

______ में दोनों गए माया मिली न राम

Ans A. विचारने

B. दुविधा

C. संकट

D. सोचने

Question ID : 9679474175
Status : Answered

Chosen Option : D

Q.49 ‘सरस्वती’ का पर्यायवाची शब्द नहीं है:

Ans A. वाक्

B. ब्राह्मी

C. भारती

D. क्षणदा

Question ID : 9679474200
Status : Answered

Chosen Option : D

Q.50 निम्नलिखित में से तत्सम शब्द नहीं है:

Ans A. स्वर्ण

B. मया

C. हाथ

D. नव

Question ID : 9679474186
Status : Answered

Chosen Option : C

Q.51 लोकोक्ति में रेखांकित शब्द के  स्थान पर किस शब्द का प्रयोग होगा?

चार दिन की चाँदनी, फिर काली रात

Ans A. चमकीली

B. आधी

C. नई

D. अंधेरी

Question ID : 9679474172
Status : Answered

Chosen Option : D
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Q.52 ‘विघ्ननाशक’ का पर्यायवाची शब्द है:

Ans A. शिव

B. देवापागा

C. गणेश

D. सरसिज

Question ID : 9679474197
Status : Answered

Chosen Option : C

Q.53 वाक्य में आए रेखांकित शब्द का विलोम है:

आज अमावस्या की रात है।

Ans A. पूर्णिमा

B. कातिक

C. लंबी

D. काली

Question ID : 9679474205
Status : Answered

Chosen Option : A

Q.54 वाक्य में आए रेखांकित शब्द का विलोम है:

वीर सैनिक देश के  रक्षक हैं।

Ans A. भक्षक

B. तक्षक

C. रखवाले

D. दक्षक

Question ID : 9679474206
Status : Answered

Chosen Option : A

Q.55 ‘समूह’ का पर्यायवाची शब्द नहीं है:

Ans A. वृंद

B. समुदाय

C. वल्लभ

D. गण

Question ID : 9679474198
Status : Answered

Chosen Option : C
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Q.56 वाक्य का शुद्ध रूप है:

वह दौड़ता तेज है।

Ans A. वह दौड़ता बहुत ही तेज है।

B. वह तेज दौड़ता है।

C. शायद वह तेज दौड़ सकता है।

D. तेज दौड़ता है वह।

Question ID : 9679474149
Status : Answered

Chosen Option : B

Q.57 पैर पर सवार होना – मुहावरे का शुद्ध रूप है:

Ans A. पेट पर सवार होना

B. माथे पर सवार होना

C. कान पर सवार होना

D. सिर पर सवार होना

Question ID : 9679474156
Status : Answered

Chosen Option : D

Q.58 ‘हवा’ का पर्यायवाची शब्द है:

Ans A. वायु

B. प्रज्ञा

C. आशुग

D. वेग

Question ID : 9679474195
Status : Answered

Chosen Option : A

Q.59 ‘नकद’ का विलोम शब्द है:

Ans A. मूल्य

B. उधार

C. धन

D. कद

Question ID : 9679474208
Status : Answered

Chosen Option : Bcli
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Q.60 गाल बजाना - मुहावरे का अर्थ है:

Ans A. गाल पर हाथ मारना

B. डींग हाँकना

C. भाषण देना

D. मुँह से कु छ न बोलना

Question ID : 9679474153
Status : Answered

Chosen Option : D

Q.61 भीगी गाय बनना – मुहावरे का शुद्ध रूप है:

Ans A. भीगी भैंस बनना

B. भीगी लड़की बनना

C. भीगी छतरी बनना

D. भीगी बिल्ली बनना

Question ID : 9679474157
Status : Answered

Chosen Option : D

Q.62 निम्नलिखित में से तत्सम तथा तद्भव शब्दों का कौन-सा युग्म शुद्ध है?

Ans A. घट - कम

B. घृत - तेल

C. घटिका - घड़ी

D. चर्म - चूरन

Question ID : 9679474183
Status : Answered

Chosen Option : C

Q.63 ‘कबूतर’ का तत्सम रूप है:

Ans A. कपोत

B. कपूत

C. पक्षी

D. काबूतर

Question ID : 9679474177
Status : Answered

Chosen Option : C

Q.64 घर की मुर्गी चावल बराबर – लोकोक्ति का शुद्ध रूप है:

Ans A. घर की मुर्गी चने बराबर

B. घर की मुर्गी अंडे बराबर

C. घर की मुर्गी सब्जी बराबर

D. घर की मुर्गी दाल बराबर

Question ID : 9679474171
Status : Answered

Chosen Option : D
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Q.65 निम्नलिखित में से तत्सम तथा तद्भव शब्दों का कौन-सा युग्म अशुद्ध है?

Ans A. पुष्प - फू ल

B. शलाका - सत्तू

C. शत - सौ

D. त्वरित - तुरंत

Question ID : 9679474182
Status : Answered

Chosen Option : B

Q.66 रिक्त स्थान के  लिए रेखांकित शब्द के  उचित विलोम शब्द का चयन कीजिए।

तुम मेरे मित्र हो या ______।

Ans A. सखा

B. शत्रु

C. भाई

D. दोस्त

Question ID : 9679474203
Status : Answered

Chosen Option : B

Q.67 वाक्य में आए रेखांकित शब्द का पर्यायवाची है:

हमें नाव से नदी पार करनी है।

Ans A. जलजीवन

B. नौका

C. अगम

D. खग

Question ID : 9679474190
Status : Answered

Chosen Option : B

Q.68 काम न जानना और बहाने बनाना - अर्थ के  लिए उचित लोकोक्ति है:

Ans A. नाच न जाने आँगन टेढ़ा

B. पाँव तले जमीन खिसकना

C. हाथ-पाँव मारना

D. बहती गंगा में आठ धोना

Question ID : 9679474169
Status : Answered

Chosen Option : A
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Q.69 रिक्त स्थान के  लिए उचित पर्यायवाची शब्द का चयन कीजिए।

आसमान में  असंख्य _____ दिखाई दे रहे हैं।

Ans A. भाग्य

B. किस्मत

C. बृहस्पति

D. तारे

Question ID : 9679474189
Status : Answered

Chosen Option : D

Q.70 वाक्य में आए रेखांकित शब्द का विलोम है:

यह भवन अत्यंत प्राचीन है।

Ans A. कृ त्रिम

B. नवीन

C. वर्तमान

D. स्थावर

Question ID : 9679474207
Status : Answered

Chosen Option : B

Q.1 Select the option that expresses the given sentence in reported speech. 

The lady said to her, “I did not go to the party, did you?”

Ans A. The lady informed her that she did not go to the party and insisted the same to her.

B. The lady insisted that she did not go to the party.

C. The lady told her that she had not gone to the party and asked her if she had gone.

D. The lady enquired if she had gone to the party.

Question ID : 9679474242
Status : Answered

Chosen Option : C

Q.2 Select the most appropriate option to fill in the blank.

Sherlock Holmes’ ______ lifestyle shocked the few friends he had.

Ans A. optimistic

B. bohemian

C. immigrant

D. honourable

Question ID : 9679474282
Status : Answered

Chosen Option : B

Section : General English
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Q.3 Select the most appropriate option to fill in the blank.

Rohan is in ______trouble.

Ans A. deep

B. large

C. heavy

D. magnificent

Question ID : 9679474253
Status : Answered

Chosen Option : C

Q.4 Select the most appropriate phrasal verb to fill in the blank.

It is wrong to ______ poor people.

Ans A. look down into

B. look down for

C. look down over

D. look down upon

Question ID : 9679474227
Status : Answered

Chosen Option : A

Q.5 Select the most appropriate phrasal verb to fill in the blank.

The police inspector ______ the terrorists who were responsible for the bomb blast last
week.

Ans A. sat up

B. ran up

C. worked up

D. rounded up

Question ID : 9679474228
Status : Answered

Chosen Option : B

Q.6 Select the most appropriate synonym of the underlined word.

His garrulous nature sometimes causes him problems with the teachers.

Ans A. insolent

B. gloomy

C. reserved

D. talkative

Question ID : 9679474260
Status : Answered

Chosen Option : D
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Q.7 Select the correctly punctuated sentence from the following options.

Ans A. Ours is a large house at the far end of the village.

B. Our’s is a large house at the far end of the village.

C. Our’s is a large house, at the far end of the village.

D. Ours’ is a large house at the far end, of the village.

Question ID : 9679474251
Status : Answered

Chosen Option : D

Q.8 Select the option that expresses the given sentence in reported speech. 

“Be sure, I am always with you,” said Sara to her daughter.

Ans A. Sara proposed her daughter to be always with her.

B. Sara suggested to her daughter that she was always with her.

C. Sara advised her daughter that she would always be with her.

D. Sara assured her daughter that she was always with her.

Question ID : 9679474243
Status : Answered

Chosen Option : D

Q.9 The following sentence has been divided into parts. Select the part of the sentence that
contains a spelling error from the given options. If you don’t find any error, mark ‘No error’
as your answer.

The chaste woman / along with her neighbours / are going for the piligrimage. 

Ans A. along with her neighbours

B. No error

C. The chaste woman

D. are going for the piligrimage.

Question ID : 9679474268
Status : Not Answered

Chosen Option : --

Q.10 Select the grammatically correct sentence as per the context from the given options.

Ans A. It were the boys who performed better this time.

B. None but cowards is afraid of failure.

C. Many a student have been failed for malpractice.

D. Meera along with her friends is going to Alok’s house for the birthday party.

Question ID : 9679474275
Status : Answered

Chosen Option : C
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Q.11 Select the most appropriate option to fill in the blank.

Our ______fears about the pandemic are coming true.

Ans A. bad

B. worse

C. ill

D. worst

Question ID : 9679474239
Status : Answered

Chosen Option : D

Q.12 Select the most appropriate article to fill in the blank.

It is too warm; I am going for ______ swim.

Ans A. No article required

B. the

C. a

D. an

Question ID : 9679474232
Status : Answered

Chosen Option : A

Q.13 Select the most appropriate conjunction to fill in the blank.

______Mr. and Mrs. Derek go, their children accompany them.

Ans A. If

B. Where

C. Wherever

D. Whatever

Question ID : 9679474217
Status : Answered

Chosen Option : A

Q.14 Select the most appropriate option to fill in the blank.

Mother _______ my dinner when I reach home.

Ans A. will have prepared

B. is preparing

C. was preparing

D. has prepared

Question ID : 9679474223
Status : Answered

Chosen Option : A

cli
ck

4p
df.

co
m

https://click4pdf.com

Downloaded From: https://click4pdf.com



Q.15 Select the most appropriate option to fill in the blank.

He was upset with the management for questioning his integrity and casting ______ on his
character.

Ans A. aspersions

B. affectations

C. affections

D. aspirations

Question ID : 9679474261
Status : Answered

Chosen Option : A

Q.16 Select the most appropriate option to fill in the blank.

The ______habitat of snow leopards are the mountainous regions of central and southern
Asia.

Ans A. distinguished

B. natural

C. environmental

D. difficult

Question ID : 9679474255
Status : Answered

Chosen Option : B

Q.17 Select the most appropriate meaning of the given idiom.

By fits and starts

Ans A. At irregular intervals

B. To have a narrow escape

C. In a difficult situation

D. To argue in favour of both sides

Question ID : 9679474264
Status : Answered

Chosen Option : A

Q.18 Select the most appropriate verb to fill in the blank.

Four miles ______ not a long distance for the boys to trek.

Ans A. is

B. are

C. had been

D. were

Question ID : 9679474213
Status : Answered

Chosen Option : A
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Q.19 Select the option that expresses the given sentence in direct speech.

Ramesh told me that while his son was studying, he was cooking.

Ans A. Ramesh says, “While my son was studying, he was cooking.”

B. Ramesh said to me, “While my son was studying, I was cooking.”

C. Ramesh said to me, “While my son was studying, he was cooking.”

D. Ramesh said to me, “While his son was studying, he was cooking.”

Question ID : 9679474240
Status : Answered

Chosen Option : B

Q.20 Select the grammatically correct sentence from the given options.

Ans A. A great part of India still remains to be explored.

B. A large consignment of books are expected to reach us today.

C. Many a man want to visit the newly opened Gulmohar Hotel.

D. The old man sew the log of wood to make a table for his son.

Question ID : 9679474277
Status : Not Answered

Chosen Option : --

Q.21 Select the most appropriate article to fill in the blank.

The little girl has taken ______ fancy belt to my pet dog.

Ans A. No article required

B. a

C. an

D. the

Question ID : 9679474233
Status : Answered

Chosen Option : B

Q.22 Select the most appropriate option to fill in the blank.

Mr. Sharma was popular among his colleagues because of his ______ nature.

Ans A. complicated

B. complacent

C. compulsory

D. complaisant

Question ID : 9679474279
Status : Answered

Chosen Option : B
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Q.23 Select the most appropriate option to fill in the blank.

The officers were shocked to see several unclaimed dead bodies ______ in the open fields.

Ans A. petrifying

B. portraying

C. purifying

D. putrefying

Question ID : 9679474280
Status : Not Answered

Chosen Option : --

Q.24 Select the most appropriate option to fill in the blank and complete the given proverb.

A bad workman _______.

Ans A. blames his fate

B. blames his tools

C. blames the weather

D. blames his friends

Question ID : 9679474266
Status : Answered

Chosen Option : A

Q.25 Select the most appropriate ANTONYM of the underlined word.

They faced the peril of loose rocks while climbing the mountain. 

Ans A. enthusiasm

B. hazard

C. safety

D. jeopardy

Question ID : 9679474258
Status : Answered

Chosen Option : C

Q.26 Select the most appropriate option to fill in the blank and complete the given proverb.

A cat has ______ lives.

Ans A. eight

B. seven

C. nine

D. ten

Question ID : 9679474267
Status : Answered

Chosen Option : B
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Q.27 Select the option that expresses the given sentence in direct speech.

Rema suggested to her friends that they should go to the beach.

Ans A. Rema said to her friends, “It is suggested that we should go to the beach.”

B. Rema said to her friends, “Go to the beach.”

C. Rema said to her friends, “Let us go to the beach.”

D. Rema said to her friends, “We are going to the beach.”

Question ID : 9679474241
Status : Answered

Chosen Option : C

Q.28 Select the most appropriate option to fill in the blank.

The company decided to question the members who had expressed their ______to the bill.

Ans A. descend

B. dissent

C. decent

D. descent

Question ID : 9679474262
Status : Answered

Chosen Option : D

Q.29 Select the correctly punctuated sentence from the following options.

Ans A. Raman was the President of the Students Club, of the college!

B. Raman was the President of the Students Club of the college.

C. Raman was the President of the Students’ Club of the college.

D. Raman was the President of the Student’s Club of the college.

Question ID : 9679474250
Status : Answered

Chosen Option : D

Q.30 Select the option that expresses the given sentence in passive voice.

None saw her at the evening ball.

Ans A. No one saw her at the evening ball.

B. She was not seen at the evening ball.

C. At the evening ball, no one saw her.

D. At the evening ball, none saw her.

Question ID : 9679474246
Status : Answered

Chosen Option : B
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Q.31 Select the grammatically correct sentence as per the context from the given options.

Ans A. As sick Mohan was, he was quite enthusiastic.

B. Since Mohan was sick, he was quite enthusiastic.

C. As Mohan was sick, he was quite enthusiastic.

D. Sick as Mohan was, he was quite enthusiastic.

Question ID : 9679474274
Status : Answered

Chosen Option : C

Q.32 Select the most appropriate phrasal verb to fill in the blank.

I always knew that Sudhir was ______ an administrative career.

Ans A. cut down for

B. cut out for

C. cut open for

D. cut up for

Question ID : 9679474226
Status : Answered

Chosen Option : D

Q.33 Select the option that expresses the given sentence in passive voice. 

I shall have written the letter to mother.

Ans A. The letter will have been written to mother by me.

B. The letter has been written to mother by me.

C. The letter is being written to mother by me.

D. The letter will be written to mother by me.

Question ID : 9679474248
Status : Answered

Chosen Option : A

Q.34 Select the most appropriate article to fill in the blank.

My father likes to read ______Times of India every morning.

Ans A. an

B. No article required

C. the

D. a

Question ID : 9679474231
Status : Answered

Chosen Option : C
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Q.35 Select the most appropriate synonym of the underlined word.

Rita gave a lucid account of her future plans to the board members.

Ans A. blurry

B. clear

C. elaborate

D. boring

Question ID : 9679474259
Status : Answered

Chosen Option : B

Q.36 Select the most appropriate conjunction to fill in the blank.

Harry Potter was in terrible fear ______the death spirit should conquer him.

Ans A. for

B. lest

C. of

D. by

Question ID : 9679474218
Status : Answered

Chosen Option : B

Q.37 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any error,
mark ‘No error’ as your answer. 

Seldom Rohan makes / the mistakes that / he has today.

Ans A. he has today.

B. No error

C. the mistakes that

D. Seldom Rohan makes

Question ID : 9679474216
Status : Not Answered

Chosen Option : --

Q.38 Select the most appropriate phrasal verb to fill in the blank.

Mary and Mala ______ each other after a decade-long friendship.

Ans A. broke through

B. broke open

C. broke up with

D. broke out

Question ID : 9679474225
Status : Answered

Chosen Option : C

cli
ck

4p
df.

co
m

https://click4pdf.com

Downloaded From: https://click4pdf.com



Q.39 Select the most appropriate option to fill in the blank.

The moment she walked inside the room, she got the ________.

Ans A. hang for the conspiracy

B. hang of the conspiracy

C. hang along the conspiracy

D. hang around the conspiracy

Question ID : 9679474229
Status : Answered

Chosen Option : B

Q.40 Select the grammatically correct sentence from the given options.

Ans A. Sameera is intelligent but her sister is dull.

B. There are a dozen of eggs inside the refrigerator.

C. He will be likely to take part in the game provided he practices hard.

D. Who does go there nowadays?

Question ID : 9679474276
Status : Not Answered

Chosen Option : --

Q.41 Select the most appropriate meaning of the given idiom.

Pay off a score

Ans A. To exercise influence secretly

B. To avenge a wrong

C. To suddenly become rich

D. To work hard to clear a debt

Question ID : 9679474265
Status : Answered

Chosen Option : D

Q.42 Select the most appropriate option to fill in the blank.

Go inside the classroom immediately. Your teacher _______where you are.

Ans A. will be wondering

B. have wonder

C. was wondered

D. wondering

Question ID : 9679474222
Status : Answered

Chosen Option : A
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Q.43 Select the option that expresses the given sentence in passive voice. 

Who teaches you Data Science in school?

Ans A. Data Science in school is taught by who?

B. In school, who teaches you Data Science?

C. By whom are you taught Data Science in school?

D. Who is your Data Science teacher in school?

Question ID : 9679474245
Status : Answered

Chosen Option : C

Q.44 Select the most appropriate option to fill in the blank.

She is a ______dancer.

Ans A. good

B. best

C. well

D. more better

Question ID : 9679474236
Status : Answered

Chosen Option : A

Q.45 The following sentence has been divided into parts. Select the part of the sentence that
contains a spelling error from the given options. If you don’t find any error, mark ‘No error’
as your answer.

Our English teacher advised us / to bring the Oxford English Dictionary, / Thesarus, and the
textbook to class every day.

Ans A. No error

B. to bring the Oxford English Dictionary,

C. Our English teacher advised us

D. Thesarus, and the textbook to class every day.

Question ID : 9679474269
Status : Answered

Chosen Option : D

Q.46 Select the most appropriate option to fill in the blank.

What ______do you take to school every day?

Ans A. rite

B. root

C. route

D. rout

Question ID : 9679474278
Status : Answered

Chosen Option : C
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Q.47 Select the most appropriate meaning of the given idiom.

Blow one’s trumpet

Ans A. To have conflicting emotions

B. To play loud music and disturb the entire neighbourhood

C. To boast of one’s skills or good qualities

D. To take the first step at personal risk

Question ID : 9679474263
Status : Answered

Chosen Option : C

Q.48 Select the most appropriate tense form to fill in the blank.

It was still ______ (rain) when I reached the meeting.

Ans A. has been raining

B. rained

C. rains

D. raining

Question ID : 9679474219
Status : Answered

Chosen Option : D

Q.49 Select the option that expresses the given sentence in passive voice. 

Rose was moved to tears at the sight of the miserable orphans.

Ans A. Rose moved the sight of the miserable orphans to tears.

B. The miserable orphans moved Rose to tears.

C. The miserable orphans moved the sight of Rose to tears.

D. The sight of the miserable orphans moved Rose to tears.

Question ID : 9679474249
Status : Answered

Chosen Option : C

Q.50 Select the most appropriate option to fill in the blank.

The judges felt that Tarun was ______ than the other participants.

Ans A. smart

B. smartest

C. comparatively smarter

D. smarter

Question ID : 9679474237
Status : Answered

Chosen Option : C
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Q.51 Select the most appropriate option to fill in the blank.

David is an ______ detective and therefore, does not take payment from his clients.

Ans A. amateur

B. unethical

C. inept

D. egoistic

Question ID : 9679474281
Status : Answered

Chosen Option : A

Q.52 Select the most appropriate option to fill in the blank.

Ripped jeans seem to be the ______fashion among youngsters.

Ans A. latter

B. least

C. last

D. latest

Question ID : 9679474238
Status : Answered

Chosen Option : D

Q.53 Select the most appropriate article to fill in the blank.

James is ______ LL.B. student of National Law College.

Ans A. a

B. an

C. the

D. No article required

Question ID : 9679474234
Status : Answered

Chosen Option : B

Q.54 Select the option that expresses the given sentence in passive voice. 

Nannies look after the children.

Ans A. The children are looked by their nannies.

B. The children are looked after the nannies.

C. The children are looked after by their nannies.

D. The children are being looked after the nannies.

Question ID : 9679474247
Status : Answered

Chosen Option : C
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Q.55 Select the most appropriate tense form to fill in the blank.

Seema ______ (return) the book before the Chief Librarian called her.

Ans A. is returning

B. had returned

C. has been returning

D. had been returning

Question ID : 9679474221
Status : Answered

Chosen Option : B

Q.56 The following sentence has been divided into parts. Select the part of the sentence that
contains a spelling error from the given options. If you don’t find any error, mark ‘No error’
as your answer.

The catastrophe changed / the course of life of the wreched villagers / and made them
vagabonds again.

Ans A. the course of life of the wreched villagers

B. The catastrophe changed

C. and made them vagabonds again.

D. No error

Question ID : 9679474270
Status : Not Answered

Chosen Option : --

Q.57 Select the correctly punctuated sentence from the following options.

Ans A. The party members decided, to go for a door to door campaign.

B. The party members decided to go for a door-to-door campaign.

C. The party members decided to go for a door to door campaign!

D. The party members, decided to go; for a door-to-door campaign.

Question ID : 9679474252
Status : Answered

Chosen Option : B

Q.58 Select the most appropriate option to fill in the blank.

Due to ______ rain, all the roads leading to the airport are blocked.

Ans A. torrential

B. comprehensive

C. substantial

D. colossal

Question ID : 9679474254
Status : Answered

Chosen Option : C
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Q.59 The following sentence has been divided into parts. Select the part of the sentence that
contains a spelling error from the given options. If you don’t find any error, mark ‘No error’
as your answer.

The benovolence of the compassionate men / moved everyone to tears and bitter contempt
arose / against the injustice that they were subjected to.

Ans A. The benovolence of the compassionate men

B. No error

C. against the injustice that they were subjected to.

D. moved everyone to tears and bitter contempt arose

Question ID : 9679474271
Status : Answered

Chosen Option : A

Q.60 Select the most appropriate option to fill in the blank.

Shimla is too ______from my hometown.

Ans A. far

B. farther

C. further

D. farthest

Question ID : 9679474235
Status : Answered

Chosen Option : A

Q.61 Select the most appropriate preposition to fill in the blank.

The two friends divided the marbles and cards ______ themselves.

Ans A. with

B. besides

C. between

D. of

Question ID : 9679474214
Status : Answered

Chosen Option : C

Q.62 Select the most appropriate option to fill in the blank.

The ______law regarding women’s right to property was taken up by the feminists during the
month-long protest.

Ans A. untouchable

B. inconvenient

C. fabulous

D. discriminatory

Question ID : 9679474256
Status : Answered

Chosen Option : D
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Q.63 Select the grammatically correct sentence as per the context from the given options.

Ans A. The principal appointed him a clerk in the school.

B. The principal as a clerk appointed him in the school.

C. As a clerk the principal appointed him in the school.

D. The principal appointed him as a clerk in the school.

Question ID : 9679474273
Status : Answered

Chosen Option : D

Q.64 Identify the correct tense that has been used in the given sentence.

They never skipped their morning walk.

Ans A. Past indefinite tense

B. Past continuous tense

C. Past perfect tense

D. Past perfect continuous tense

Question ID : 9679474224
Status : Answered

Chosen Option : A

Q.65 Select the most appropriate option to fill in the blank.

The veterinary doctor decided to resort to mercy killing in order to relieve my dog from the
______ agony.

Ans A. exhaustive

B. notable

C. excruciating

D. substantial

Question ID : 9679474257
Status : Answered

Chosen Option : C

Q.66 Select the most appropriate word from the given options.

I ______ him very well.

Ans A. knows

B. am knowing

C. has been knowing

D. know

Question ID : 9679474220
Status : Answered

Chosen Option : D
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Q.67 Select the option that expresses the given sentence in reported speech.

Shylock said, “Good Heavens, I am ruined.”

Ans A. Shylock exclaimed with sorrow that he was ruined.

B. Shylock was sorrowful that he was ruined.

C. Shylock assured everyone that God had ruined him.

D. Shylock prayed to the Good Heavens that he was ruined.

Question ID : 9679474244
Status : Answered

Chosen Option : A

Q.68 The following sentence has been divided into parts. Select the part of the sentence that
contains a spelling error from the given options. If you don’t find any error, mark ‘No error’
as your answer.

There is no greater accomplishment for me / than to be able to stand on the dias, / face the
audience and deliver my speech eloquently. 

Ans A. There is no greater accomplishment for me

B. face the audience and deliver my speech eloquently.

C. than to be able to stand on the dias,

D. No error

Question ID : 9679474272
Status : Not Answered

Chosen Option : --

Q.69 Select the most appropriate preposition to fill in the blank.

New furniture will immediately be substituted ______the old ones.

Ans A. an

B. for

C. at

D. to

Question ID : 9679474215
Status : Answered

Chosen Option : C

Q.70 Select the most appropriate article to fill in the blank.

Let us study ______chapter on birds carefully.

Ans A. No article required

B. an

C. at

D. the

Question ID : 9679474230
Status : Answered

Chosen Option : D
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